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let f 1stl 1st2 =

let a = choice 1lstl in
let b = choice 1lst2 in
if a = b then a

else fail ()
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let choice 1lst = (x 00D0OOOO00O0O0g %)
shift (fun k -> fun cont ->
let rec loop 1lst =
match 1lst with
[ > cont ()
| a :: rest -=> k a (fun () -> loop rest)
in loop 1lst);;
let fail () = (x 0000000 DOOOg =)
shift (fun k -> fun cont -> cont ());;
let start f = (x0O0oOog %)
(reset (fun () -> let r = f () in fun _
(fun () -> raise Not_found);;

-> 1))
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(*

->

(*

Ooooooo %)
(v, Some sol));;
ogooo =)

let choice_max 1lst = (x OOOoooogog =)

shift (fun k -> fun beta ->
let rec loop lst max = match 1lst with

let return sol v =
shift (fun k -> fun _

let getv (v, _) = v;;

[1 -> max
| first :: rest ->
let a = k first (getv max) in

max)
beta then a (* cut *)

if (getv a) > (getv
then if (getv a) >=
else loop rest a
else loop rest max

in loop 1lst (min_int, Nomne));;

let choice_min 1lst = (x OO0OoOoooo =)
shift(fun k -> fun alpha ->
let rec loop lst min = match lst with

[1 -> min
| first :: rest ->
let a = k first (getv min) in

min)
alpha then a (* cut *)

if (getv a) < (getv
then if (getv a) <=
else loop rest a
else loop rest min
in loop 1lst (max_int, None));;
let start f = (x DOOoOgo %
let top = (reset(fun () -> let r = £ () in
fun _ -> (0, Some r))) max_int
in match top with
(_, Some r) > r
| (_, None) -> raise Not_found;;

02000000000 Gameld
8 Uuuuooboobn

uobooooobooboobooboobooboooog
gboobgobooobobooooboobobo
gboobobooboobobooboboobobd
gboooboobdoboboooooboboobang
gboobdobobobobooboboobanbg
oboooooooo

obooooooboobOooooboooooog
gboboooooboooboooooooooooon
goboooobooooobobooobobooooooboooo
gboboooooboooboooooboooboooo
gbooooobgobooboboboobobobo
gbooobooobooobgooobooo

gooo

[1] Harold Abelson and Gerald Jay Sussman with
Julie Sussman. Structure and Interpretation of Com-
puter Programs. Mit Press, Cambridge, 1996.

[2] Olivier Danvy and Andrzej Filinski. Abstracting Con-
trol. In Proceedings of the 1990 ACM Conference on
Lisp and Functional Programming, pp. 151-160, June

1990.

000,0000. shift/reset 000 Caml Light OO
000o0o0. 0120000000000000000
000ooogoooog, pp. 115-129, 2010.

3]



